

UNDERGRADUATE PROGRAM 2021-22 Academic Year Winter 2023 Effective January 30, 2023

	Head Count	FULL-TIME S' No. of Units	TUDENTS Ave. No. of Units	FTE	PART-TIME STUDENTS Head No. of Ave. No. TE Count Units of Units			FTE	TOTAL STUDENTS Head No. of Count Units F		TS FTE
SCU Undergraduate Degree Students - Quarter											
First-year Students					_						
Arts & Sciences	792	13,146.75	16.60	792	3	29.50	9.83	2.46	795	13,176.25	794.46
Business	459	7,638.50	16.64	459	1	8.00	8.00	0.67	460	7,646.50	459.67
Engineering	367	6,814.25	18.57	367	1	8.00	8.00	0.67	368	6,822.25	367.67
Total - First-year Students	1,618	27,599.50	17.06	1,618	5	45.50	9.10	3.79	1,623	27,645.00	1,621.79
Transfer Students											
Arts & Sciences	156	2,562.50	16.43	156	4	29.00	7.25	2.42	160	2,591.50	158.42
Business	41	675.00	16.46	41					41	675.00	41.00
Engineering	22	368.00	16.73	22					22	368.00	22.00
Total - Transfer Students	219	3,605.50	16.46	219	4	29.00	7.25	2.42	223	3,634.50	221.42
Continuing Students - Main Campus											
Arts & Sciences	1,990	34,462.50	17.32	1,990	97	784.50	8.09	65.38	2,087	35,247.00	2,055.38
Business	1,290	22,866.00	17.73	1,290	39	323.50	8.29	26.96	1,329	23,189.50	1,316.96
Engineering	697	12,095.00	17.35	697	29	222.00	7.66	18.50	726	12,317.00	715.50
Total - Continuing Students - Main Campus	3,977	69,423.50	17.46	3,977	165	1,330.00	8.06	110.83	4,142	70,753.50	4,087.83
Continuing Students - External Study											
Arts & Sciences	4	81.00	20.25	4					4	81.00	4.00
Business	4	76.00	19.00	4					4	76.00	4.00
Engineering	•	. 0.00		·					•		
Total - Continuing Students - External	8	157.00	19.63	8	0				8	157.00	8.00
Total SCU Degree Students											
Arts & Sciences	2,942	50,252.75	17.08	2,942	104	843.00	8.11	70.25	3,046	51,095.75	3,012.25
Business	1,794	31,255.50	17.42	1,794	40	331.50	8.29	27.63	1,834	31,587.00	1,821.63
Engineering	1,086	19.277.25	17.75	1,086	30	230.00	7.67	19.17	1,116	19,507.25	1,105.17
Total - SCU Degree Students	5,822	100,785.50	17.31	5,822	174	1,404.50	8.07	117.04	5,996	102,190.00	5,939.04
SCU Undergraduate Non Degree Students											
Main Campus					4	19.00	4.75	1.58	4	19.00	1.58
External Study					- <b>r</b>	10.00	7.70	1.50	7	10.00	1.00
Exchange Programs	2	27.00	13.50	2					2	27.00	2.00
Total - Non Degree Students	2	27.00	13.50	2	4	19.00	4.75	1.58	6	46.00	3.58
Total Undergraduate Students	5.824	100,812.50	17.31	5,824	178	1,423.50	8.00	118.63	6.002	102,236.00	5.942.63
Total Univergraduate Students	5,024	100,012.50	17.31	5,624	170	1,423.30	0.00	110.03	0,002	102,236.00	3,342.03

- 1. SCU degree students include students admitted to the undergraduate degree program.
- 2. First-year includes first time degree-seeking students initially enrolling at SCU in fall, winter, or spring term.
- 3. Transfers include students with academic credit from another college, initially enrolling at SCU in fall, winter, or spring term.
- 4. Number of units does not include units from audited classes.
- 5. Student full-time equivalency (FTE) is based on 12 units in the undergraduate program. For students enrolled in 12 units or more, FTE = 1.0. Otherwise, FTE = number of units / 12.



# UNDERGRADUATE PROGRAM - EXTERNAL STUDY 2021-22 Academic Year Winter 2023 Effective January 30, 2023

	FULL-TIME STUDENTS				PA	RT-TIME STUDENTS	TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of Ave. No.		Head	No. of	
	Count	Units	of Units	FTE	Count	Units of Units	FTE	Count	Units	FTE
SCU Undergraduate Degree Students - External Study										
College of Arts & Sciences										
Quarter programs	1	19.00	19.00	1				1	19.00	1.00
Semester programs	1	19.00	19.00	1				1	19.00	1.00
Panetta Institute	2	43.00	21.50	2				2	43.00	2.00
Total - Arts & Sciences	4	81.00	20.25	4	0			4	81.00	4.00
Leavey School of Business										
Quarter programs										
Semester programs	2	38.00	19.00	2				2	38.00	2.00
Total - Leavey School of Business	2	38.00	19.00	2	0			2	38.00	2.00
School of Engineering										
Quarter programs										
Semester programs	2	38.00	19.00	2				2	38.00	2.00
Total - School of Engineering	2	38.00	19.00	2	0			2	38.00	2.00
Total SCU Undergraduate Degree Students - External Study by Program										
Quarter programs	1	19.00	19.00	1				1	19.00	1.00
Semester programs	5	95.00	19.00	5				5	95.00	5.00
Panetta Institute	2	43.00	21.50	2				2	43.00	2.00
Total SCU Undergraduate Degree Students - External Study	8	157.00	19.63	8	0			8	157.00	8.00

- 1. For undergraduates enrolled in external study programs, registration is set initially at 19 units and adjusted to actual units earned upon completion of the program.
- 2. For undergraduates enrolled in an external study program and an ROTC course, the initial number of units will be greater than 19.
- 3. Number of units does not include units from audited classes.
- 4. Units shown in Totals for the College and Schools are a sum of quarter and semester units from programs on quarter and semester calendars, respectively.



GRADUATE PROGRAMS - QUARTER 2021-22 Academic Year Winter 2023 Effective January 30, 2023

	FI Head	JLL-TIME S' No. of			PART-TIME STUD Head No. of Ave		_	UDENTS Ave. No.		TOTAL STUDENTS Head No. of	
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
SCU Graduate Students - Quarter											
College of Arts & Sciences											
Restorative Justice & Chaplaincy	1	8.00	8.00	1.00					1	8.00	1.00
Restorative Justice & Chaplaincy Online	1	8.00	8.00	1.00	2	8.00	4.00	1.00	3	16.00	2.00
Pastoral Ministries (M.A.)	6	52.00	8.67	6.50	15	60.00	4.00	7.50	21	112.00	14.00
Pastoral Ministries Distance Learning (M.A.)	5	40.00	8.00	5.00	23	92.00	4.00	11.50	28	132.00	16.50
Non Degree - Pastoral Ministries					9	36.00	4.00	4.50	9	36.00	4.50
Total - College of Arts & Sciences	13	108.00	8.31	13.50	49	196.00	4.00	24.50	62	304.00	38.00
Leavey School of Business											
J.D./MBA Combined Degree					9	58.00	5.14	6.44	9	58.00	6.44
J.D./MSIS Combined Degree											
Executive MBA (EMBA)	37	466.00	12.59	37.00					37	466.00	37.00
Master of Business Administration (M.B.A.)	33	363.00	11.00	40.33	128	854.00	6.67	94.89	161	1,217.00	135.22
Master of Business Administration (M.B.A.) (on-line)	63	706.00	11.21	78.44	183	1,212.00	6.62	134.67	246	1,918.00	213.11
Master of Business Administration (M.B.A.) STEM	7	88.00		9.78	8	50.00		5.56	15	138.00	15.33
Master of Science - Business Analytics (M.S.)	41	478.00	11.66	53.11	10	48.00	4.80	5.33	51	526.00	58.44
Master of Science - Business Analytics (M.S.) (online)	8	88.00	11.00	9.78	7	48.00	6.86	5.33	15	136.00	15.11
Master of Science - Finance & Analytics (M.S.)	19	224.00	11.79	24.89	1	2.00	2.00	0.22	20	226.00	25.11
Master of Science - Finance & Analytics (M.S.) (online)	3	36.00	12.00	4.00	17	80.00	4.71	8.89	20	116.00	12.89
Master of Science - Finance (M.S.)											
Master of Science - Marketing (M.S.) (on-line)	9	94.00	10.44	10.44	29	190.00	6.55	21.11	38	284.00	31.56
Master of Science - Management Information Systems (M.S.I.S.)	19	199.00	10.47	22.11	53	384.00	7.25	42.67	72	583.00	64.78
Non Degree - Business											
Post Baccalaureate CAAP	26	312.00	12.00	26.00					26	312.00	26.00
Total - Leavey School of Business	265	3,054.00	11.52	315.89	445	2,926.00	6.58	325.11	710	5,980.00	641.00
School of Engineering											
Doctor of Philosophy (Ph.D.)	29	236.00	8.14	29.50	36	71.00	1.97	8.88	65	307.00	38.38
Engineer's Degree	1	8.00	8.00	1.00	1	1.00	1.00	0.13	2	9.00	1.13
Master of Science (M.S.)	558	4,768.00	8.54	596.00	114	432.00	3.79	54.00	672	5,200.00	650.00
Master of Science - Robotics and Automation (M.S.)											
Engineering Certificate					2	9.00	4.50	1.13	2	9.00	1.13
Non Degree - Engineering					8	30.00	3.75	3.75	8	30.00	3.75
Total - School of Engineering	588	5,012.00	8.52	626.50	161	543.00	3.37	67.88	749	5,555.00	694.38
				ļ				l			



GRADUATE PROGRAMS - QUARTER 2021-22 Academic Year Winter 2023 Effective January 30, 2023

	FULL-TIME STUDENTS				PART-TIME STUDENTS				TOTAL STUDENTS		
	Head Count	No. of Units	Ave. No. of Units	FTE	Head Count	No. of Units	Ave. No. of Units	FTE	Head Count	No. of Units	FTE
SCU Graduate Students - Quarter	Count	Offics	OI OIIIIS	FIE	Count	Units	OI OIIIIS	FIE	Count	Offics	FIE
School of Education & Counseling Psychology											
Doctorate in Social Justice Leadership (Ed.D)	1	9.00	9.00	1.00	39	234.00	6.00	26.00	40	243.00	27.00
Master of Arts (M.A.) - Applied Psychology	6	54.00	9.00	6.00	5	27.00	5.40	3.00	11	81.00	9.00
Master of Arts (M.A.) - Counseling	5	45.00	9.00	5.00	12	57.00	4.75	6.33	17	102.00	11.33
Master of Arts (M.A.) - Counseling Psychology	292	2,734.50	9.36	303.83	167	895.50	5.36	99.50	459	3,630.00	403.33
Master of Arts (M.A.) - Educational Administration	21	189.00	9.00	21.00	21	99.00	4.71	11.00	42	288.00	32.00
Master of Arts Teaching (M.A.T.) Multiple Subject	21	237.00	11.29	26.33	25	104.00	4.16	11.56	46	341.00	37.89
Master of Arts Teaching (M.A.T.) Single Subject	19	213.00	11.21	23.67	23	112.00	4.87	12.44	42	325.00	36.11
MAT Clear Teach Catholic School Teach											
Abb Pre Tch Prg Catholic School Multi					1	3.00	3.00	0.33	1	3.00	0.33
Bilingual Cross-Cult Language Certificate											
Catholic School Leadership Certificate											
Alternative and Correctional Certificate											
Clear Teaching Certificate											
Credential for 6+ yrs Catholic School Teachers Certificate					1	3.00	3.00	0.33	1	3.00	0.33
Preliminary Admin Service Certificate					1	3.00	3.00	0.33	1	3.00	0.33
Preliminary Multiple Subj Teach Pro Catholic School Teach Certificate											
Preliminary Single Subj Teach Pro Catholic School Teach Certificate											
Non Degree - Counseling Psychology					2	4.00	2.00	0.44	2	4.00	0.44
Non Degree - Education					1	1.00	1.00	0.11	1	1.00	0.11
Total - School of Education & Counseling Psychology	365	3,481.50	9.54	386.83	298	1,542.50	5.18	171.39	663	5,024.00	558.22
Total SCU Graduate Students - Quarter	1,231	11,655.50	9.47	1,342.72	953	5,207.50	5.46	588.88	2,184	16,863.00	1,931.60

- 1. In Pastoral Ministries, student full-time equivalency (FTE) is based on 8 units.
- 2. In the Business post baccalaureate CAAP program, student FTE is based on 12 units.
- 3. In Business graduate programs, student FTE is based on 9 units.
- 4. In Engineering graduate programs, student FTE is based on 8 units.
- 5. In Education and Counseling Psychology programs, student FTE is based on 9 units.
- 6. In post baccalaureate and graduate programs, FTE equals the number of units a student is enrolled in / number of units program is based on. Thus, FTE exceeds 1.0 for students enrolled in more than the base number of units for their program. EMBA students are an exception. This is a full-time cohort program in which FTE equals number of students.



GRADUATE PROGRAMS - SEMESTER 2021-22 Academic Year Winter 2023 Effective January 30, 2023

	FUL Head Count	L-TIME STUL No. of Av Units o		FTE	PAI Head Count	RT-TIME ST No. of Units		FTE	TOTA Head Count	L STUDENTS No. of Units	S FTE
SCU Graduate Students - Semester and Special Programs		<u> </u>								<u> </u>	
School of Law											
Juris Doctor (J.D.) - Day											
Juris Doctor (J.D.) - Evening											
Juris Doctor (J.D.) - Day Study Abroad											
Juris Doctor (J.D.) - Evening Study Abroad											
JD/MBA Combined Degree											
JD/MSIS Combined Degree											
Master of Laws (L.L.M.)											
Master of Laws (L.L.M.) Abroad											
Master of Legal Studies (MLS) - Corporate Compliance (on-line)											
Non Degree Exchange											
Non Degree	•				•				•		
Total - School of Law	0				0				0		
Jesuit School of Theology											
Master of Divinity (M.Div.)					17	60.00	3.53	6.67	17	60.00	6.67
Master of Theological Studies (M.T.S.)					4	12.00	3.00	1.33	4	12.00	1.33
Master of Theological Studies (M.T.S.) (on-line)					1	3.00	3.00	0.33	1	3.00	0.33
Master of Theology (Th.M.)					1	3.00	3.00	0.33	1	3.00	0.33
Master of Theology (Th.M.) - Candidates											
Bachelor of Sacred Theology (S.T.B.)											
Licentiate of Sacred Theology (S.T.L.)					3	9.00	3.00	1.00	3	9.00	1.00
Licentiate of Sacred Theology (S.T.L.) - Candidates											
Licentiate of Sacred Theology/Master of Theology (S.T.L./Th.M.)											
Doctor of Sacred Theology (S.T.D.)											
Doctor of Sacred Theology (S.T.D.) - Candidates											
Master of Arts/Master of Divinity (M.A./M.Div.)											
New Directions					_				_		
Non Degree	_				3	3.00	1.00	0.33	3	3.00	0.33
Total - Jesuit School of Theology	0				29	90.00	3.10	10.00	29	90.00	10.00
Total SCU Graduate Students - Semester and Special Programs	0	0.00	0.00	0.00	29	90.00	3.10	10.00	29	90.00	10.00

- 1. In the School of Law, student full-time equivalency (FTE) is based on 12 units, except for the Evening J.D. program which is based on 8 units. The JD/MBA, JD/MSIS, and MLS programs are based on 9 units.
- 2. In the Jesuit School of Theology, student FTE is based on 9 units.
- 3. In Law and JST, FTE equals the number of units a student is enrolled in / number of units program is based on. Thus, FTE exceeds 1.0 for students enrolled in more than the base number of units for their program.
- 4. Number of units enrolled in does not include units from audited classes.
- 5. Students in non-degree programs or in JST's New Directions program are always considered part-time.
- 6. In the School of Law, the on-line Master of Legal Studies program operates on a quarter calendar. JST offers a January Intersession which operates on a quarter schedule Winter term.



OVERALL ENROLLMENT 2021-22 Academic Year Winter 2023 Effective January 30, 2023

	FULL-TIME STUDENTS				PART-TIME STUDENTS				TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head		Ave. No.		Head	No. of		
COU Franchiscopt has Burnary	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Enrollment by Program												
Undergraduate Programs												
College of Arts & Sciences	2,942	50,253	17.08	2,942	104	843	8.11	70	3,046	51,096	3,012	
Leavey School of Business	1,794	31,256	17.42	1,794	40	332	8.29	28	1,834	31,587	1,822	
School of Engineering	1,086	19,277	17.75	1,086	30	230	7.67	19	1,116	19,507	1,105	
Non Degree Students	2	27	13.50	2	4	19	4.75	2	6	46	4	
Total Undergraduate	5,824	100,813	17.31	5,824	178	1,424	8.00	119	6,002	102,236	5,943	
Graduate Programs - Quarter												
College of Arts & Sciences	13	108	8.31	14	49	196	4.00	25	62	304	38	
Leavey School of Business	265	3,054	11.52	316	445	2,926	6.58	325	710	5,980	641	
School of Engineering	588	5,012	8.52	627	161	543	3.37	68	749	5,555	694	
School of Education & Counseling Psychology	365	3,482	9.54	387	298	1,543	5.18	171	663	5,024	558	
Total Graduate Programs - Quarter	1,231	11,656	9.47	1,343	953	5,208	5.46	589	2,184	16,863	1,932	
Graduate Programs - Semester and Special Programs												
School of Law												
Jesuit School of Theology					29	90	3.10	10	29	90	10	
Total Graduate Programs - Semester	0	0		0	29	90	3.10	10	29	90	10	
Total Enrollment	7,055	112,468	15.94	7,167	1,160	6,721	5.79	718	8,215	119,189	7,884	

<sup>1.</sup> Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.

<sup>2.</sup> Units shown in Total Enrollment are a sum of quarter and semester units from programs on quarter and semester calendars, respectively.



OVERALL ENROLLMENT 2021-22 Academic Year Winter 2023 Effective January 30, 2023

	FULL-TIME STUDENTS Head No. of Ave. No.			F.T.F.	PART-TIME STUDENTS Head No. of Ave. No.				TOTAL STUDENTHead No. of		
SCU Enrollment by College/School	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
College of Arts & Sciences											
Undergraduate - Degree Seeking	2,942	50,253	17.08	2,942	104	843	8.11	70	3,046	51,096	3,012
Graduate	13	108	8.31	14	49	196	4.00	25	62	304	38
Total College of Arts & Sciences	2,955	50,361	17.04	2,956	153	1,039	6.79	95	3,108	51,400	3,050
Leavey School of Business											
Undergraduate - Degree Seeking	1,794	31,256	17.42	1,794	40	332	8.29	28	1,834	31,587	1,822
Graduate	265	3,054	11.52	316	445	2,926	6.58	325	710	5,980	641
Total Leavey School of Business	2,059	34,310	16.66	2,110	485	3,258	6.72	353	2,544	37,567	2,463
School of Engineering											
Undergraduate - Degree Seeking	1,086	19,277	17.75	1,086	30	230	7.67	19	1,116	19,507	1,105
Graduate	588	5,012	8.52	627	161	543	3.37	68	749	5,555	694
Total School of Engineering	1,674	24,289	14.51	1,713	191	773	4.05	87	1,865	25,062	1,800
Non Degree Students - Undergraduate											
Total Undergraduate - Non-degree Seeking	2	27	13.50	2	4	19.00	4.75	2	6	46	4
School of Education & Counseling Psychology											
Undergraduate - Degree Seeking											
Graduate	365	3,482	9.54	387	298	1,543	5.18	171	663	5,024	558
Total School of Education & Counseling Psychology	365	3,482	9.54	387	298	1,543	5.18	171	663	5,024	558
School of Law											
Undergraduate - Degree Seeking											
Graduate											
Total School of Law	0	0		0	0	0	21.00	0	0	0	0
Jesuit School of Theology											
Undergraduate - Degree Seeking Graduate					29	90	3.10	10	29	90	10
Total Jesuit School of Theology	0	0		0	29	90	3.10	10	29	90	10
Total Enrollment	7,055	112,468	15.94	7,167	1,160	6,721	5.79	718	8,215	119,189	7,884

<sup>1.</sup> Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.

<sup>2.</sup> Units shown in Total Enrollment are a sum of quarter and semester units from programs on quarter and semester calendars, respectively.